RETFAN XFA XFAOKA 01

ROXU{ }NERAR L. (SH1, AfR15340F, Bik245320%, C#%341)

(1) =+ 3y {y=2z} (2) 2z — 4y {z=—-y+2}
(3) =—3y {y=3z+2} (4) 22 —4y+ 2 {y=2+2}
(5) %a—ﬁb {a=6b} (6) %a—%b (b=2a—6)}
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RKORIZ{ Y NERAL K. (SH14y, AM1540%, B2 20/, CH34)

(1) z+2y {y=-3z} (2) 22— 3y {z=-y+2}

(3) -5y {y=3z-2} (4) 22 -3y —= {y=z+=z2}
3 _ 2 3 _

(5) Ja—2b {a=-12b} (6) Fa- b {b=2a-2}
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RETFAN XFA XFAOKA 01

ORI { Y NERALE K. (SHk14r, AR1740%, B#k23 208, C#%347)

(1) =+ 3y {y=2z}
=zr+3x2
=z + 6x
=7z BX

(3) z—3y {y=3z+2}
=z —3(3x+2)
=z—92—6
=—-8x—6 &EZX

Yo — DEMICKAZEDTS.

(5) Za 60 {a=6b)
:%xbe()‘b
= 4b—6b
=—-2b -EZX

(2) 2z — 4y {z=—-y+2}
=2(-y+2) -4y
=—2y+4—4y
- —6y+4 Ez

(4) 2z —4y+ =2 {y=z+2}
=2z —4(x+2)+z2

=2r—4x —4z+ 2

=-2x—3z &Z

(6) %a—%b {b=2a—-6}

8a — 9b
12

8a — 9(2a — 6)
12

8a —18a + 54
12

—10a + 54
12

_ —5a6+ 27 Lz

YA ETDOHZ R TN 2EA 5.
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ROX{ Y NZRAR L. (SH1, AR17408, BH#24y208, C# 3% )

(1) z+2y {y=-3z} (2) 22— 3y {z=-y+2}
=2 +2x (—3z) =2(-y+2) -3y
=1z — 6x =—-2y+4-3y
=—5z &ZX =—5y+4 -&EZ
(3) -5y {y=3z—-2} (4) 22 -3y —=z {y=x+2}
=2z —5(3x—2) =2r—-3(z+2)—=z
=z — 152+ 10 =2r—-3rx—-3z—=2
= 14z +10 -EX o w—4s EZ
(5) 3a—2b {a=—120} 6) 2a- 30 (b=2a-2)
4 3 2
= 3 (—12b) — _ 4a—9b
= 2 x (—12b) = 2b = faz
— _9h—9 _ 4a—9(2a - 2)
N 6
=_11b &z _ 4a — 18a + 18
6
_ —14a+18
6
—7a+9 e s
— ez
3
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